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Instructions to Candidates o
The Entrance Test Booklet is divided into two Sections: A and B. Section A consists of 60 Ob_!ectlve
Questions of 1 Mark each. Section B consists of Essay Writing of 60 marks. Candidates have to write tw'o
essays (One from each i.e., Section B(i) and B(ii). The total time allocated for both the Sections (A and B) is
three Hours.
Section "A'" of OMR sheet will be collected after one hour of exam.
The candidate may carry this Booklet.

There is a negative marking in Multiple Choice Questions. One third (1/3) of the marks will be deducted for
each wrong answer.

USE OF CALCULATOR IS NOT PERMITTED.

USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, IPHONE, IPAD, PAGER C
ANY ELECTRONIC COMMUNICATION DEVICES ETC., IS NOT PERMITTED.

Candidate should check the serial order of Questions at the beginning of the test. If any question is foun.
missing in the serial order or any other discrepancy, it should be immediately brought to the notice of the
Invigilator. No pages should be torn out from this question booklet.

Answers must be marked in the OMR Answer sheet which is provided separately. OMR sheet must be
handed over to the invigilator after one hour. The OMR sheet should not be folded or wrinkled. The folded or
wrinkled OMR/Answer Sheet will not be evaluated.

Write your Roll Number in the appropriate space (above) and on the OMR Answer Sheet. Any other details,
if asked for should be written only in the space provided.

Use Only Black or Blue Ball Pen for filling the ovals/circles in the OMR Answer Sheet while answering the
Questions. ‘

There are four options to each question marked A, B, C and D. Select one of the answers you consider most
appropriate and fill up the corresponding oval/circle in the OMR Answer Sheet provided to you. If the correct
answer is 'B', the corresponding Oval/circle should be completely filled and darkened as shown below.

In case of any difference between English, Hindi and Urdu version, the English version will be treated as
correct. \
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@ Which one of the following is not correctly matched?
~ (a)  Stand-up India: Financeto SC/ST and women entrepreneurs -

(b)  InvestIndia: Investor facilitation initiative of government and FICCI
(c)  Start-up India: Finance to young entrepreneurs

" (d) Shram Suvidha Portal: Information about labour inspections.
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2. Consider the following.

-‘I 1.  Investmentby a foreign firm to establish a subsidiary
2. Investment in shares through stock exchange @
) 2
Which of these are included in FDI?
(@ Onlyl (b) Only2
| (c) Bothland2 (d) Neither 1 nor 2
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/{ Which one of the following is not correct about Bonds?

Bond is a debt instrument .~
Bondholders are creditors —
Bondholders have managementrights of the company

Bondholders have a preferential claim on assets of the issuer over equity

holders.

aree & ar # ol # @ w8 §

(2)
(b)
(©)
(d)
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@ Fiscal consolidation s one of the objectives of India's economic policy.
Which of the following would help in fiscal consolidation?
1.  increasing taxes

2. getting more loans

3.  reducing subsidies

Select the correct answer using the codes given below-

(2 1land2only (b) 1and3 only
(c) 2and3only (d 1,2and3
TSI FHT AR B onfiw iy B 2w 7§ /0 ¥
frer & @ B TN THET | AeG HUN?

(1) & B T |

Q) e o e

(3) afeast &7

aer fasmer?

@ 18R2 (b) 13K 3
c) 293 (d) 1,2 3R 3
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@/ Many times, we read about "Circuit Breakers" in share markets. They are temporary

measures that halt the trading on which of the fallowing occasion?
£ (@)  On special days |
)Q (b) When a new share is traded for the first time.

(c)  When the prices of a particular stock rise or fall by a specified amount in a

specified time.

44J  When trading of a particular stockrises beyond a specified volume.

%3 X &9 IR IR § “¥ihe 99 % SR ¥ wod ¥ T ot Suw & WY

fr=fafaa & & T sraa/seet W =mR &t dad 87

(a) oy R W
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(d) i et Rdw Wi B AR @ P T @ ot & o )
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A
{ ¢ @ Choose the false statementamong the following statements:

Msumer Price Index (CPI) is the index of prices of a given basket of

commodities that are bought by the representative consumer.

—

(})/ The weights of representative goods are constant in GDP Deflator, but they

differ according to the production level of each good in CPIL

ﬁ/ The index for wholesale prices is called the Wholesale Price Index (WPI); in
—_— -

the USA, it is referred to as the Producer Price Index (PPI)
' 9)/ CPT includes prices of goods consumed by the representative consumer;

hence it includes prices of imported goods. GDP deflator does not include

prices of imported goods.
- R
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@/ Due to the covid-19 lockdown, the capacity utilization inthe economy decreased.

Consider the following statements:

(i)  Capital output ratio will increase in the economy.
A —— —
(i)  Per unit cost of production will increase. @

Select the correct answer using the code given below:

(@ (i) only ) (ii) only

(c) Both (i) & (i) (d) Neither (i) nor (ii)

HIAE-19 AHSST B HROT Sefeqaedn § &war SugeT § it o715 81
- o wE W ORER %

() sreforae % Gt weme s w2
(i) wfr gfve wame @ a3

@  Faw () (0) e (i)
© (1) s (iD) G (d) ¢ &
ST oS BB Si1900f
Lol bl f s
Kt S ()
--JZ_Lgm‘/.czﬁJ&{‘é&bUS (ii)

(i) (b) <431 (a)
f/) ) I..g,.‘« (d) IIJJ’IU;” (C)
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% Concerning the Pradhan Mantri Ujjwala Yoj_na, consider the followng statement:

(1)

)

(2)
(c)

It aims to safeguard the health of women and children by providing them
with clean cooking fuel.
The connections will be provided to only BPL families identified through

Socio-Economic Caste Census Data.

Which of the statements givenabove is/are correct?

1 only (b) 2only
Both 1 and 2 (d) Neither 1 nor 2
A Soolae qioT & s ffofaa saa-

TH R T TR & R @ fo sqwer e AR ok awt @
WA & T HET )

WS-SR iy SeRTorr & ariepel & mmea & Yo T 1T 4 o O
Ra A & 75 FHEIE Rar e

Mﬁmﬁ‘a@rmaﬁw%@n
Bad 1 (b) am 2
1 3R 2 <N (d) % 7

s e e Pt yuizi

LIS w5 DSl b= Uitz s (1)

Jﬂ;’15£Socio-Economic Cast Census Datag)% J o u..g./u]l/f BPLuiu“g (2)

N
I/~ (b) IS4 (a)
Lol s (d) ILIUs Q)
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/ 7. Match the following;

() Diwani-i-Insha, A. Deptt. Of Intelligence

(i)  Diwan-i-Barid > B. Deptt. Of State Correspondence

(iii) Ariz-i-Mamalik C. Religious.matters

(iv) Diwan-i-Risala

. - Military Deptt. 76 '
@ A, iiB,iii-C,ivD (b) B ii-A,iii-C,iv-D
(©) iB,ii-A, iii-D, iv-C - (d) i-D, ii-A, iii-C, iv-B
Pt 7t fre
(i) Hae-T-=m A. gl R
(1) arroate B. v wmw fam
(i) gty C. e wrmd
(V) drar--feer D. &= fm
(@) i-A,ii-B, iii-C,iv-D (b) i-B,ii-A, iii-C, iv-D
(©) i-B,ii-A, iii-D,iv-C (d) i-D,ii-A, iii-C, iv-B
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(Deppt. of Intelligence) u"i?"f -A Biglys ()
(Deppt. of State Correspondence )F Ku"f.mbé -B 420y (i)
(Religious matters) £l i -C S (i)

(Military Deptt.)} ¥es .D - <Islys  (Giv)
i-B, ii-A, iii-C,iv-D  (b) i-A, i1-B, iii-C, iv-D  (a)
i-D, ii-A, iii-C, iv-B d i-B, ii-A, iii-D, iv-C  (c)
@ Read the following statements carefully.

(1)  There are an infinite number of souls in the universe, all fundamentally equal.

(ii) The annihilation (nirjala) of Karma comes aboutthrough penance.
(iii) The world functions only according to unjversal law.

(iv) The universe functions through the interaction of living souls and five

non-living entities.

Which of the above statements regarding Jainism are correct?
(@ i, i, iii (b) i, iii, iv
() i,ii,iv (d) 1, ii,iii, iv
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(%) v s st e i sl 77 s e 1
(@ 1i,ii,iii (b) i, iii, iv ‘
(€) iii,iv () i, i, iid, iv
UL AES IS s
_ QUM e Sk enutz it Supa e b ()
et L U G
e (Bl ST i)
LJ‘f?u?Tiuﬁwtgjégmuyqu_&‘?@t% (iv)
et AL i
iv, iii, il (b) i, 1,1 (a)

iv, iii, ii,1 (d) iv,ii,i  (¢)
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/{ Read the following statements carefully and choose the correct answer from th,e

given codes.

(i) The Saivahanas started the practice of donating land without fiscal and

———

administrative immunities to Brahmanas and Buddhist monks.

() The Satvahanas started the practice of donating land with fiscal and
% | administrative immunities to Brahmanas and Buddhist monks.
(i) The Guptas gave land grants to priest, temples and royal officers.

(iv)  The Guptas did not give administrative rights along with land grants.

(2) i, iii, iv (b i, i, i
~ (©) 1ii,iii only (d) i, iii only
e FUA/HG Bl g

) et & s o A fageit 9 Rrefa o T g & R o
T H B T JE A |

() st % s o @ Pk @ P o sl @ 3 W
IHEE HE A T g6 B

(L) e & gonfelt, WY ol e st @t wfr omgr R

(V) 7t % oftr orge @ W v AR T R

@) i, iii, iv (b) i,ii, iii

(c) ii,iii only (d) 1i,iiionly
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' iy
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s 5P QoA AL el sy Gv)

i, ii,1 (b) v, iti, i (a)
i, 1 (d) AL ()

Which of the following statements are true?

(i)  The first Indian Factories Act of 1881 prohibited child labour below the age

of seven.

(i)  The second Factories Act of 1891 fixed the minimum age for employment at

nine.

(iif) The first factories Act 1881 provided a weekly holiday for all workers.

(iv) The factory Act 1911 limited the working hours of children to seven and

women to eleven.
(@ i,ii (b) 1i,1ii,iv

() 1i,ii,11 (d) All of the above are correct

$-22 (SET-D) (15)



Ffofen & 9 wa a8 ¥4

(1) vom wRedE SR affam, 1881 & 7 9 § &7 Ag & @ W w
sy Rar

(i) e s wram s, 1891 # TR & forg =gremr &g 9 ot
fraifRe =t &)

(iii) T IR HREMT S, 1881 & o sfal & e e sraaTeT
LHERGD

(iv) mmawﬁxﬁmlgufraa?%ﬁmm%aﬁtw%maﬁ%muﬁ%#

T/ T
(@ i,ii (b) 1i,ii, iv
(€) i, ii, i (c)

e Gullife s

BLA LA S mpgSuflnde Jral oLy Aok Ziss1 ()
-fd;/u:’“” Jw;fd/i_/rvéué(lwl)&f Iy 2 c}l?:ﬁ«_/u )
-o‘?d:&x’Ju”:dm;a;Luwfrp?i. 18812 1y ,-Oéi (iii)

&S\ ﬂ.éu?m,mf&‘_/r 6L U 1911eK1y 6 (i)

iv,ii,i (b) id (a)

~YteeneoLl oo (d) iii, i, i (c)
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(d)
(1)
(i)
(iif)
(iv)

()
(©)

He edited Poona Sarvajanik Sabha.

He worked with Deccan Educational Society, founded by Goyind Ranade.

He also served as a Member of the Indian Public Service Commi(ssion-

Mohammad Ali Jinnah wanted to be like him.

Who was he?

Dada Bhai Naoroji /
Gopal Krishan Gokhle @
Bal Gangadhar Tilak

Mohan Das Karamchand Gandhi

SN [T WS g9 -
mwmmwmwmﬁmmml
SR WA Wi A1 AT B qeE @ w9 A o & R

Aier g et T 9 ST <99t 9y &1
8§ B A?

T T SRS (b) Tt o et
@ TR fows (d) e I T T T
el byl ()
I AR S P S i u G)
Wb e G P e 21Ut (i)
&2 PRLASILEUE ()

?éufu
gfu’/d&f (b) Lf.u!.élpjbb (a)
Sk e Sy () Lptll ()
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e
/% Which of the following were part of the famous treaty signed between the Marathgs
and Mughals in 1719?

()  The Marathas were allowed to éollect ggiagt,h_ and Sardeshmukhi from al] the

Mughal Subahs in Deccan.

(ii)  Shahuwould pay an annual tribute of ten lakh rupees to the Mughal Emperor.

/ (iii) The Marathas would get the territories of Khandesh, Berar and Gondwana.

(¥) - Mughal King Rafi-ud-darajat approved the treaty.
Choose the correct answer from the given code: 5
(@ i,ii, only ®) i, ii,iv

e yx’ i, ii, iii | (d) i,r i, ii, iv
Frafafes & @ 171 ¥ e R gt & 7ex gf Wi Wi @ R 4
() et a T & g & e ol w9 @ agR dn
(i) g, T qEIME B 10 TG 697 F aOifs FEiahy 3

| (i) @, R R Teawr & Wt @ FRA |

(iv) Immmmmﬁ#aﬁzﬁrnﬁg&é’n
(a) i, ii, haw (b) 1i,1ii,iv
© i, i, iii () i, ii, iii, iv
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Match the following;

@& Poligars —
(i) - Taqavi ==
(1) Amil «— =

(iv) -Mugaddam -
/Qaj/ i-A, iiB, iii-C, D

(©)  i-D,ii-B,iii-C, iv-A
f=falaa #t g

(i)l A

(i) ww

(i) enf

(iv) e

(@) i-A,iiB, iii-C,iv-D

(c) i-D,ii-B,ii-C,iv-A

$-22 (SET-D)

i, ii, i, iv  (d)

A,
B.
C.
D.

(b)
()

D.

2, i

i, 11, 1ii

Zamindars

Loan

In-charge of the district
Village Headman

i-C, ii-B, iii-D, iv-A
i-A, ii-B, iii-D, iv-C

SHIGIR
FOT/SUR

o T
e & R

(b) i-C,ii-B,iii-D, iv-A

(d) i-A,i1i-B, iii-D, iv-C

(19)
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L I

JAers A ey o (Poligars)/@g (i).

S} -B (Taqavd s (i)

LY -C Ju i)
AU D S e G

i-C, ii-B, iii-D, iv-A  (b) i-A, ii.B, iii-C,iv-D  (a)
LA iLB, D, iv-C ) LD, ii-B, ii-C, iv-A ©

Vi
/ . . i . . -
q@ Pointing to a girl in the photograph, Mr Amar said, "Her mother's brother is the

only son of my mother's father." How is the girl's mother related to Amar? ﬁé;\

s oy b D
»(ﬁ{ Sister - (b) Mother =

(¢)  Aunt (d) Either Mother or Aunt A

mﬁwaﬁa&aﬁtmmw%m%ﬂﬁwmﬁéﬁﬁw
% T 1 Shaltan I ¥ 97 wwa &) AW @ onR & R Ry 7

() & (b)
(c) =Y (d) wmET 4 =
Y1l SIS H§33L §
“_§.U;byglt{,dl;z:utd/éwmh&m”
B ‘e 2 e WSS

f*j\o ) g ()
. = ) L (d)
K@f ‘ 24 g (@
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( @ Ruhi went to the bank at the speed of 60 km/h; while returning for his home he
covered half of the distance at the speed of 10 km/h, but suddenly he realized that
he was getting late, so he increased thespeed and reached the home by covering rest

half of the distance at the speed of 30 kim/h. The. average speed of Ruhi in the whole

length of the journey is:

(1) 24km/h (b) 14km/h
() 16 km/h (d) 10km/h

Wl 60 fli/der o W ¥ ¥F | A e W e ot gt 10 Reftaer
B TR ¥ 00 W A owme o @ B a5 qe & W dr) o S A
TR O & 3R qwr ot g s0 Rfivdar Y TR & 0 w0 W ET )
T A AT AR /L 7

(@) 24 fefider (b) 14 ferefi/eer

(c) 16 fHireer (d) 10 fHi/eer

-d/é;c,jtb&f(}j{%1odwu’ifi_m&,z"_Mu-@fu@;ﬂb&ﬁf&}:‘%o&/
Ldm(ﬁTJQL/BJJ%&%}KMMJ’/,I'/B/Lu’i?_}-u’i-c"_tj‘/npc,lfﬁc;kfgl
?d; G.KC.GJL/J'LI: /’t_Jgf J qu_(jf f:}('/-’ff.':/

B3 2814 (b) 2832604 (a)
532510 (9) 2532816 (o)
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.

@ Ravi and Mohit are talking, standing at the corner of a road in the eveni‘ng. Their
houses are in the opposite direction. As they walk towards their houses, with thej;

back towards each other, Ravi'sshadow is exactly to his left; then which direction is
= N

Mohit facing? ® @
(o ' &
® &;ﬁ
(8 North-East (b) North R
(¢  South (d) East

W AR AT @ 9 757 & PR @2 O A W ® ¥ o W A
ﬁmﬁﬁ%ﬁ%ﬁ%aﬁm#-@wmmmﬁ%WWWWaﬁ
Wﬁ%,wﬁﬁwm%ﬁmaﬁ%lw%%mﬁm

¥ 5 D @3 87
(@) S (b) TR
(c) e d) o

o;yz-uju.fo/‘.ﬂl?/é ul-e"‘;f..//uﬂ/gzz./‘fd_/brﬁ J;f_gmmldurl}..ﬁ
-< t‘ndf’q{@Z:Jlﬂ,:l/(dug‘qud)’(f/%fz;_lﬁf@ J)JL/J)»QUJ?})

S SAS e Sty
JE (b) | AU
g7 (A - ()
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“d Q. 20 : Answer the questionsbased on the following pie charts-

] SA CASian Above 50
DA ountries
-/s W 25 1/4 years

50% 30+to |

40 years
15%

Below
30 years
15%

Others

Chart- 1: Indian tourists to various regions Chart- 2: Age group of Indian tourists

T 19 T 20 B 2 Ry v 0E 9% B R W IwR Afig

50 I8 | AfH
50%

Tre-1: R wmit § T wes - 2 ek e @ g

-2?:‘;4;&’:01‘;:‘:6&25 z.g’,:,glzézoj,twdtr

LU 20
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19.  If amongst the 'others' Australia accounted for 5% of the total Indian tourists and i
is known from Australian official records that 4.5 lakh Indian (tguris,ts \{isited that
country, the number of Indian tourists who are in the age range 30-40 yegrs is:

(a)  13.5 lakhs (b) 9 lakhs

(c) 18 lakhs (d) 15 lakhs

R ‘I I F e o A Wy e 5 whea & o s
% SHftreTiees R & g e & s sl et o e 4.5 @@ B, @4 80 @

40 TN BT ST A R et ) AT d 2
(@) 13.5¥mW@ (b) 9w @
(c) 189 (d) 159

J’&wxéjjg/uﬁ/g&ﬂj,wgwscy&t/mJutxoéyk/*fu:;/;z_/»ﬁ
‘e BISUPL Beaeediy 28 a0 302 b Yol s LQbad 4.5
419 (b) 40135 (a)

4015 (d) 4018 (o)

20. In the context of data in the previous question, if you are also told that the number
of tourists to Europe is at least three times the number of tourists of the UK, what is

the maximum number of tourists to the UK?
(a) Three lakhs (b) Four lakhs fifty thousand

(c) Six lakhs (d) It cannot be determined
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21, If 'JNU' is; written as@gl:_g@@%',then 'PUSA' will be writteﬁ as:
(@ 1113171923052106 (b) 1715122308150122 \

@@Q S
o %@1@5.80126 (d) 1611012621061907

b

U .
FR INU’ @t ‘1%1714132106’ forar wmg, @@ ‘PUSA’ =t @an feran sm@m?

(a) 1113171923052106 (b) 1715122308150122

(c) 1611210619080126 (d) 1611012621061907
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Gy o

9

6/%

1715122308150122 (b)

1611012621061907 (d)

//Which year has the same calender as that of 1970 ?
= A =

4 : K e |
0o 9(‘_“,(TJIPUSAJUL/UU‘-I'LJ 101714132106’[JNUUMU

el H‘

57

1113171923052106  (a)

1611210619080126

et (17
1q7 R

(c)
= oo,

s

%(a)/ 1976

(c) 1990 (d)
T 1970 B T AV R ¥ B &7
(@ 1976 ®)
(© 1990 (d)
1981 (b)
1998 (d)

23. A and B have incomes in the ratio of 5:3. The expenses of A, B and C

A

@@

1% tu
™ +1
15 4
28 42
7+t
4y 191 e e
76 4 S
S Lol 1970t ¥ e f

3 O1976 (a)

81 #
—1990  (¢)
are in the

1998

[6d =t
1981

1998

ratio 5 : 8 : 2. If C spends Rs. 2000 & B saves Rs. 700, then A's saving is:

@ Rs. 1500 (b) Rs. 1000
(©) Rs. 500 (d) Rs.2500
S-22 (SET-D) (26)
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gt
(1) 1500 93 (b) 1000 9
(¢) 500 &7 (d) 2500 TX
W'z,-u2000£-Cﬁ-7_8 151 20 B bIAILC 4B, Ae 513 AT BAA
?c‘:.&,?fcagd/ AL FE g d_s/T00L B
&-3,1000 (b) £1500  (a)
&-2500 (d) 5500 (o)
24. In an objective examination of 90 questions, 5 _r_n_arks are alloted for every correct
answer and 2 marks are deducted for every wrong answer. After attending all the 90

questions, a studentgot a total of 387 marks. 42

The number of questions attempted wrong were

@ 9 ) 18 8
XZ

(c) 81 (d) 36 ‘ <
% J

90 Wyt @ TF e e F, wdH € TR B Y 5 ofF B § AR WA
wwwzm?sms‘rm%f%lmﬁmﬁaﬁwqummﬁ@m
e ey | 9@ B A fhe U9l T e Swi e 2

@ 9 (b) 18

) 8l (d) 36
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25.  What is the next number inthe given series: 2, 3, 4,6, 7,9, 10, 12?
(@ 13 (b) 15
(c) 14 (d) 16
X R sem ¥ el wear w4 et
2,3,4,6,7,9,10, 12?

@ 13 (b) 15
© 14 d) 16

Ay 38

2,3,4,6,7,9,10, 122

15 (b) 13 (a)

16 (d) 14 (c)
.4( Which of the following body approves the Fair and Remunerative Price (FRP) of

-
—
J

- sugarcane?
(a) Cabinet committee on Economic Affairs >/

= (b) Commission for Agricultural Costs and Prices.

(c)  Directorate of Marketing and Inspection, Ministry of Agriculture

(d)  Agriculture Produce Market Committee

S-22 (SET-D) 28)
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St 20 d Ul o S ol e 5 i
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MLJ'J’&JJ] (d)
5 Consider the following statements about 'Small Finance Bank'.

(1)  These are niche banks with the main function to perform lending activities
among weaker sections.
(2) These are scaled-down versions of banks, with both deposit-taking and
—_— - —_—
loan-making functions.

(3)  These banks are based on the Parth Shome committee on financial inclusion.

Choose the correct options: /
(a) Onlyl /(b) Only 1 and 2
(c) Onlyland3 (d) Only2and3
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B
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cR Y
75 ¥% Ry TR W ol i w0 s ¥
aﬁﬁwgﬁq
@@ 1 (b) 1 3 2
(© 13Ks d) 23R8

”

:atya?c.‘:al;:eujﬁi_;f
b St S e (1)
L KU A v U, ()
e BRI e e Wy (3)
:2;13/ 5
21 (b) a2 (a)
32 (d) 31 ()
2/8./ Tea best grows in Assam, Darjeeling and Jalpaiguri districts of West Bengal. What
is/are the uniqueness of this region that suits this crop?
(1)  Ithas awarm and humid climate.
(2)  Showers are mainly concentrated in 4-5 months, i.e. June to October in any
year.
(3) Deep, fertile and well-drained soil.
(4) Rugged topography of the relief near the Himalayan foothills.

Choose the correct code.

(a 1,2,3only (b) 1,3 only
(c) 1,3,4only <Td) Allofthe above
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2. mﬁ,mﬁwwm%maﬁﬁ‘,vﬂ%m,mmﬁh

3. ﬂaﬁmaﬁram%mﬁmwﬁﬁl{ff

5. T A quedr & ww B SAG-EEs g

& R o
@ %a1,2 8 (b) 133
© 1,34 (@) ST W

k@'d/ékf’-ﬁ‘- Jﬂd:f/ll"'djfél;%'u@/l:ﬁdl{’gdfﬂlrl,ffjt;l,‘%ﬂ‘a, ../JLQ
?q__/l'/ZJ_LJ‘jJé_,lgﬁg.mﬂ/”"

_c‘_lm_,f._f,b/mrfulfa (D

e bl e wra# 45 S ()

Ssinlnzigd (3

dtmatfabutehlda (@)

G
1,3 (b) 1,2,3 (a)
NG 1,3,4 (o)
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@ Match the following:

Naval Ships
(1)  INS Vikramaditya
(2) INS Aridhaman

(3) INS Chennai -

(4) INSKalvari

Choose the correct option:

1 2 3

@ ¢ b a

) ¢ d

€ a d ¢

d a b ¢
fr=fofee & @R TmEo-

T B e

(1) o6 ™ w e

4
d
b
b
d

) 9% W w i

(3) I U A
(4) M OT T dear

(@ ¢
b) ¢
() a
(d a

S-22 (SET-D)

(b)
(©)

Class
stealth guided-missile destroyer
scorpene class submarine

aircraft carrier

nuclear-powered submarine

gfear PR e Reas
it Aot B g
e T

(@) v Fah e
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/O./Consider the followingstatements regarding Food Fortification':

(1) Itis the addition of key vitaminsand minerals to staple food.
(2) Itisaimedat fighting malnutrition.

Choose the correct statement:

(a) Onlyl (b) Only2

(Y~ Both1and2 (d) None of the above
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(@ 1 (b) 2
© 13K 23 (d) @ig &
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- (o O ()

‘e ol
2 (b) 1 (2
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z/The most significant playerin implementinga public policy is?
(@) Legislature (b) Courts
(c) Pressure groups ~ (d) Bureaucracy
A A A A A R 3w et @
(a) frentirsr (b) T
(c) <@ (d) e
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/74./ Who gave the theory of Natural Rights?

(ay”” Hobbes (b) Rousseau X~

(c)  Thomas Jefferson - (d) JohnLocke -~
s AR @ Rreia fr Rar A
(a) B (Hobbes) (b) &4 (Rousseau)
(©) O ST (d) S W@ (John Locke)
i FOP Qi
»1 (b) Uw (a)
Sl (d) g ()
@ Which of the foliowing statements are true regarding the term 'quce Majeure',

which was recently in the news?

(i)  Itis generally treated as a breach of contract.

(ii)  Unforeseeable circumstances that prevent someone from fulfilling a contract.

(iii) Includes an Act of God or natural disasters, war or war-like situations,
epidemics, pandemics, etc.

Select the correct answer using the code given below:

(a) (i) & (iii) only (b) (ii) & (ii1) only

(¢c) (iii) only (d) All ofthe above
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e 2B S esf
2,3 (b) 1,3 ()
¢ @) 3 (o)
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Consider the following statefirents regarding the CHAMPIONS portal: 57

1. Itis a technology-packed control room-cum-management information

system.

2. Itwaslaunched by-the Ministry of HRD.

Which of the given statement is/are correct?

(@ lonly (b) 2only

(c) Bothland?2
CHAMPIONS uidg & TSR Foa-

(d) Neither 1 nor 2

L W TH e & Y P 7 e veE o &

2. T WFE WA R Wwd 3 e e o

SR § B a1 w5 qd Ly
@ 1 () 2
© 13dR2 (d) =15 &

e tle Ze yCHAMPIONS
-« M) I LA AL ey e 36, ()

B 2 (MERD) s A6 G

St Gl
2 (b) L @)
AT 1,2 (o)
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@ When an individugbguits his/Herjob and decides to stay-at home 'for d'while, the

labour force participationrate:
(@ Increases

/ (b) Decreases
(© Remains same

(d) May increase or decrease depending on the length of time he/she stays at

home.

maﬁ%mﬁﬁ@w%mmww@mmwm%mwwﬁw
T T AT I I 27

() wEdrd
(b) et ¥
© @I FewT T

(@ =W @ A AT D IER 77 ok g2 g
LA e bt Snd St s Fig s
<% (a)
=& ©
UG (o)
e Tttt I L cale  S3E 7 (9
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/36, Withreference 19, Currency SwyapiFagility, consider the fallowing statements:

]

-

£ 3

-

It is an agreement to exchange currencies with predetermined terms.
The swap operations can carry exchange rates or other market risks.

Recently, Bangladesh - Sri lanka signed a currency swap agreement.

Which of the statements givenabove is/are correct?

(8)  2and3 only /(b) 2only

(©) 1and3 only (d) 1,2and3

g R gier ¥ @ e

Lo ww i Pl ol @ e gl @ omem e & o aw ¥
2. W HEEH, I IOR AR & R Afem @ @ e woew
5. TW W aivew o s & qEn Rfvm wEld W s R ¥
TR | B Y ¥

(@) 2,8 (b) 2

© 1,8 d 1,23

eSS

e sk SRS ol e bt ()
_@éL.prJLqCLMﬁ@ﬁﬁ{W (i)

R L LSSk e G
2232 (b) 2,3 (a)

1,2,3 (d) 1,3 (o)
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"'Consider the followinhg statéments regardifig'the "Mother Fund' ot 'Fiind'6f:Funds'
Scheme under Aatma Nirbhar Bharat:
(i) It will help in the listingof MSMEs on capital markéts.
- (i)  Govt. of India will purchase majority owﬁership in MSMEs

Select the correct answer using the code given below:

/@) only (i) (b) only (i)
(c) Both(i) & (i) (d) neither (i) nor (ii)

e Bft WRE A B Ted wS oife weE ok T we' ¥ W@ e
B

1. T8 O O O § B Gl R ¥ gelies a § Aeg R

2. ¥ ¥R @7 U8 U9 § | qgaen ¥ @it ada

@ 1 | (b) 2
© 13R2 (d) g T&
eblhe e SHTA VB L e AP T

-Jé_uuié,uwjd’ VERE S AMAS e @
-Jg,},}:«;EJqﬁ/lufMSNIESMMJG (i)

(i) (b) @D ()
S @ @l () Q)
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@ Which of the following statements regarding yoga is not correct ?

U '3 o e e
(a) 'Yama'in Yoga means restraining herself/himself from immoral activities.

(b) 'Dharana'is conce i i :
| med with concentration. Niyomn
(c)  "Pratyahara'is concerned with the withdrawal of the senses. ey

~ (d) 'Samadhi' is an observance, which refers to the cultivation of values and
virtues in life.
I § 93 FreafeRan s

(@) W W w o gE A e TRmAREE F dET )
(b) ‘ORI H G THRET & 2|

(c) ‘TR # Hw St & YRR F
(d) ‘wRr B SgERer ¥ o o F g o o @ e 2

?‘Lé‘u/utw Lo Y
Vel (s e Uy @
A% (b)

NG 1 w ©

PRSI ) NPT A S RIS (TS 2 €

| /49/ The concept of citizenship involves the concept of.
/ (a) Ethnicity (b) Liberty
(c) Rights (d) Duties
ARG BT FFEREn § M 77
() T/ (b) T
(c) N (d) @i
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T (b) S @
RO 5% ©

}{{ - Which act provided the right to vote women?

¥ @)
7 )
(©
(d)

Indian Councils Act, 1909

Government of India Act, 1919
Government of India Act, 1935
Indian Independence Act, 1947

fow st ¥ aftemet &t waem & aftR R

(a)
(b)
(©)
(d)

R TReg s 1909
HRA @R AT 1919
RO §&R At 1935
AT GaTar SR 1947

She ok !u’/ Y Kz,w;»@i/

19192 Leren® (b) 19092L 1475 (a)
19472 15T 36 () C1935ef rer? (O

@ Consider the following statements regarding air pollution:

L.
2,
3,
4,
(a)
(©)

Ground Ozone is an example of a secondary pollutant.
Ozone is a strong oxidizing agent that badly affects the humadungs.
Ozone concentration increases rapidly during the winter season.

Ground ozone is also called as photochemical pollutant.

1 and 2 (b) 1,2and3 @3

1,2 and 4 (d 2,3and 4
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TR § B T T 2
@ 132 (b) 1,2 3R 3
(© 1,234 (d) 2, 3R 4

?ugc,ufatyé_’Zc—L;ﬁJln

e Je b ITEs (D)

e e UGt Wne LA T s (2)
- bry e GEIMY U, (3)

gL EITED s (@)

1,2,3 (b) | 1,2 (a)

2,3,4 (d) 1,2,4 (o)
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/ﬂ./ Consider the following statements

1. Climate change is forcing monsoon behaviour by decreasing the number of

raifnlc_igys in India during South-Wsoon as per the recent findings of

IPCC report.

2. El Nino phenomena disturb the Weatl)_e__r”of the Tropical region and the

3 B Nino phenomens disurd the Weather of e

Temperate region.
s b A

Which of these is/are correct?

(3 Onlyl (b) Only2
1\ / () Bothland2 (d) Neither 1 nor 2
= waw iy

Lo @ & < R & Frenet @ orgaw, sfor oRew @ e wwarg
URTA AMYT B TR B B Hear R AR F SRy @ R
der & o & @ ¥

3 'wﬁwmﬁﬁﬁﬂwaﬁ%ﬁmaﬂrwaﬂaﬁmm

2
SR § qE FuT g
@ 1 (b) 2
© 13R2 (@) B &
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V Consider the following statements regarding the Himalayas:

1. These are one of the most vulnerable and ecologically sensitive regions of

the world.

2. lis height is no longer increasing as there is no more Tethys Sea between the

Indian Plate and the Eurasian Plate.

3¢ There is no recent volcanic eruption despite being at destructive boundaries.

4. K‘e’eglg’]a_di, a type of fungus is grown in the alpine region of Himalaya.

Which of these statements is/are correct?
(a) 2and3 (b) land4
7 () 1,3and4 (d 2.3and4
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¥
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SR W
(@ 28 o | (b) 1,4
© 1,84 (d) 28,4

bl Ze i
-u”"a..u.‘.'u.;"lbu‘l/“c._JJUJ}H:’LJ:D:/JWLQ@ (1)

m';w ”w;lf. V)/LL &) L.“ . 4 /‘
~ T el U e S G S )
-%WUWJJQL:JJGKJLLLM%JU:MU% (3)
_%J‘U:Lwdyﬂéngg_uﬁgﬂgu‘my (4)

?cytyé‘

1,4 (b) 2,3 (a)

2,3,4 (d) 1,3,4 (c)
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[}
jm,/ Consider the following:

1. Warm water in Eastern pacific

2 Cold Tibetan plateau surface >

3. - High pressure near Madagascar region
4

South westerly jet flowing strongly over North India X

Which of these conditions is/are favourable for South-West Monsoon?

(@ Only3 ~ (b) land2

() 2and3 (d 2,3and4

FIA-

1. gt wenia wewrR & o aet

2. fosclt R # 3 waw

3. SN &% % U IoT G|

4 IER WG A R Wl e w1 AT w0

SR & S SRoaie T @ R s ¥

@ 3 ®) 1,2

c) 2,8 d 23,4 |
:ﬂ:)lu)',gjﬂ

QUIDA AV

5/6/5/0’ 2

Al LB Fu ()
WEbead MR mde (@)

e e oL Lurgrd Mo Re Uiyl
12 ®) 3 @

2,3,4 (d) 2,3 (o)
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45, Consider the tollowing pairs regarding diseases

Discases

P T P —

!-J

Zika
3. Spanish flu

A" Swineflu

Main affected region/countries
Wostern and Central Africa
China "\)
Columbia and Venezuela

- Mexico and USA

Which of the pairs given above is/are correctly matched?

»(@ Onlyl

(¢) 1,3and4

/(b) | and 4

(d) 1,2and3

W SR il & @ WR-

LiLIE
1. 3§

2. Fr

3. Ay v
4. W@ET WY
w3 g
@ 1

) 1,334
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(b) 13K 4
(d) 1,233
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1,4 (b) 1 (a)
1,2,3 (d) 1,3,4 (o)

%nsider the following pairs regarding ‘states, UTs and their parts

Those share»bounda_ly with each other:

1.  DadraNagar Haveli ~ -  Daman & Diu

2. Odisha ¢ - Telangana

3. Uttar Pradesh x - Himachal Pradesh
4,  Maharashtra x - Chhattisgarh

In which of the pairs given above states/UTs/region share boundary with each other
is/are corricjl_ypr@hed?
(a) land2 (b) Only3

/(6) 3and 4 (d) 1,2,3and4
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2.  S¥ET - AT

3. WX W - fwraw iy

(1)
(2)
(3)
(4)
(a)

4. WERTS - Eﬁﬁ“ﬂ‘ﬁ
- ‘
(@ 13R2 (b) 3
) 83R4 @d 1,28, 4
e Gl mfle SRSE AL AL i
LS | -UE i/é)b
S ‘ -
ﬁJ{ Fu -ﬁ){}l
oI Py
377 (b) 2401
413,2,1 (d) 4 1513

(c)

7. Which of the following countries do not share a boundary with each other:

j@ Israel—Egyth/

//(c) Turkmenistan-Tajikistan

S-22 (SET-D)
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(a) TOOEW - Prg

(b) & - gt
(c) Wﬁﬁ-m
(d) TERRET - TR
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G ANty ® o @
500 (0 JEEEYET ()
% Consider the following:
1./ Rapid urbanization 2‘./Deforestation
3. Heavy Sand Mining 4, Micro-irrigation
Which of these are the cause of increasing ground water depletion anc}_ﬂood?
@ 1,2,3,4 (b) 1,2
A 1,23 d 1,2,4
ﬁqﬁf@ﬂﬁﬁﬁ?tﬁﬁ%aﬁmaﬂimmﬁmﬁ?
1. O S
9. T & FT
3. W @ @
4. g foeE
HS:
@ 1,284 (b) 1,2
© 1,283 d 1,24
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1,2 (b) 1,2,3,4
1,2,4 (d) 1,2,3
il / Consider the following provinces of China:
I Tibet
2. Xinjiang

Which of these share/shares the boundary with Jammu Kashmir?

(@) Onlyl (b) Only2
/ (c) Bothland2 (d) Neither 1 nor 2
frferfen 4w & widl & & Rready/Revar i o el & Tt B
1. frema
2. fufomT
e
(@ 1 (b) 2
€ 13R2 () e
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e (1
L ()
237 (b) 15~ (a)
u.?'(j/ (d) Um2 a1 ()
/59/ Which one of the Island nations of Aftica is nearest to India?
| (@) CapeVerde (b) Mauritius > 21& V~—

(c) | Seychelles /mj% (d) Madagascar

T BT BT AT AT WA Q@ 98 9qerd 87 |

() ®7aE (b) Wt

(©) A9 (d) AT

e e kil Jirie e g 2L 3
RO z_w‘.;;( (a)
Ay @ S ©

5.<J/Consider the following statements:

L.~ Wmmalayan region is called as a third pole of the world
2. /Peninsular plateau hard rocks have lesser groundwater recharging capacity

e

than Great Indian Plains.

3/Western disturbances are only experienced in the winter season over north
India.
4.  Coral Reefis found both in Andaman, Nicobar and Lakshadweep Islands.

Identify the correct answer

(@ 2and3 b) 1,2,4

(c) 2and4 /(/d) 1,2,3 and 4
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4

wé

(@)

(©

YT

g Pt &b o R 1 dfverr g T e

Yl R A welt wgEmt &, Wy A *?"M"fnmq
VO-GTROT e & Bl &)

Rt R, Ser W & dow witat B e & o R omr g,

warer firferat (Coral reef) Wmmﬁmﬁﬁwmh
S gy

2 3R 8 (b) 1,2, 4

2 R 4 d 1,23 4

:c.ul?&:d Soukir

e B e P (1)

Sl S it el i demtuitensibhgs o

-
e b UL E Gt bR (3)
- bbbty Zee LS U (4)
42,1 (b) 342 (a)
4.413,2,1 (d) 452 (o)

/52./ Consider the following pairs

(1) = Tropical Moist Deciduous —— Sal

(2) Tropical Evergreen forest —= Mahogany
(3) <" Mangroves - = Rhizophora
(4)~" Chir — Alpine
Identify the correct answer

(@ 1,2and3 (b) 2,3 and 4
(c) 1,2and4 1) 1,2,3and 4
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(1) SoTmREH T qoiqwt @
(2) ST HAHT FEEER T TR et
(3) = I Reftera
@ = ararse (Alpine)
AR ?
@ 1,23 ‘ (b) 2,38, 4
) 1,24 d 1,284
e Sz 3o
Ju Ay AN )
@;,f _:,Jﬁe,wyﬁ;/’ (2)
Ny By e
Y -z @
2,3,4 (b) 1,2,3 ()
v 1,2,3,4 (d) ,2,4 ()

Choose the correct statements from the given code.

1. Telecommunication satellites are placed in polar orbit.

2. Remote Sensing Satellites work by using reflected electromagnetic radiation.

Code:
(a) lonly (b) 2only
) 1&2 (d) None
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1 ERER o & g e § war g

2 e IR Sww wafa R gasa R & o @ ¥
FE:

(@ 1 (b) 2
© 132 (d) @ T
it
Gl Er S )
UL KL LSt e iy e, (2)

3
243~ (b) 147 (a)
AT O) 21 (c)

(8'4. Regarding Carbon Capture and Storage, thecorrect statement(s)is/are:

1. Carbon dioxide iscaptured by usinga liquid ammonia solution.

2. The captured Carbon dioxide is pumped into coal rocks and Qcean water,

Code:
(@ 1lonly (b) 2only
() 1&2 (d) None
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Fra B FEm SR AosRer ¥ G W www Yrog o 0w ¢ OElee
1. FET SEAEEES B TR F @ ST B B 5@ B E)
2. FIET SEARIES A Hiaw Y wgert % wyg B yrt § v fear s ¥

o
@ 1 (b) 2
© 13R2 | (d) i T
G LN L Gt j{cm’
e b LS Eer ES T @
e b A UGS D e T el G
378
2 (b) 1 ()
S8 (@ 21 (0
zr./ Concerning Blockchain technology, the correct statement(s) is/are:

1. Tt is employed in SUPERCERT Programme to authenticate educational

documents.
2.# Once an information is enteredinto a block, it cannot be altered.

37" Blockchain technology is the basis of cryptocurrencieslike Ripple, NXT.

Code: |
() 1&2 ) 1&3
(c) 3only (d) None

S-22 (SET-D) (57)



=% 4 (Block chain) et @ o W FEF Ina o E 10w TR

1 TEw st A et g E #) N R gy
(SUPERCERT) e & fapar am 21

2. Wanmhwm}qmmffm%wv&ww@fmmu

5. W YTt Ruw, o gew & (NXT) R B w s gy
m .

(@ 13K2 (b) 133

© 3 &) ® TE

e B GBSy
-‘at&f;Jb’f’léj_LZ;,l?fi,y‘/,/;‘dG‘Lglg,t‘/;g.’.wu.‘.’rl/;{SUPERCERTd 6)
S st S L ()

e SONXD A i RSB G G

3
3.1 (b) 251 (a)
VAV BNE) 3 (o)

56./ The Asia African Growth Corridor is about:
1. Promoting Quality infrastructure

2. Connectivity within Asia and Africa

3. Promoting defence collaboration

Code:
() 1&3 | (b) 2&3
@ 1&2 d 1,2&3
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o o R SRS H WA
T e o e @ aE a d

2. URAT 3R awiE B it sfRfd

8. T WEANT H qgrar A

Pl $i

S ¥ o ¥
(@ 18R3 (b) 2R3
¢) 13¥R2 d 1,233
:c‘_.ﬂ,@ﬂi;/:‘g A2
&)!?9’}“"@'{ @)
LAl 3 2 (i)
Es g6 (i)
Ut
3.2 (b) 31 (2)
3 12 L1 (d) 2 51 (c)

57/. With reference to Bt-Cotton, the incorrect statement is:

—-_—
_—

% Bt-Cotton is pest-resistant and herbicide tole>r€mt X

(bglt offers pest-resistant against only Bollworms & white fly pest

,(9// It was introduced in India by Monsanto-MahycoBiotech Ltd.”

(d) Allareincorrect
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Bt- %tz (Bt-Cotton).® ¥y  Taq, FAT R

(a) Bt—ﬁzwahzuﬁﬂtﬁaﬂwmsﬁmﬂa%l

(b) ﬂsmwmwmaﬁz%maﬁz—mﬁ%u
©) £ wra & A o A RS ¥ ge B

(d) SR T T ¥
c‘;.dyblic,LVLBt-Cotton

e w95 g ps s de—iszzk Bt- Cotton  (a)
JIJi'?LFly pest ,gif’jjlerJc“_ W’Juﬁ/:ﬁ.’og (b)
-Li/ _i/»4_Monsanto-Mahyco Biotech Ltd. AT, l"/)ﬁf:fu’ I (e)

Yol s (d)

From the given list, identify missilesfitted in Rafale:

1. METEOR

2. AMRAAM

3.  HAMMER

4.  EXOCET

Code:

(@ 1,3and4 b) 1,2&3

(¢) 1&2only (d 1,2,3and4
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(1)
2)
€)
4)
(2)
(©)

#éeik (METEOR)
IR (AMRAAM)
#x (HAMMAR)
T (EXOCET)
1, 8 3K 4 (b) 1,23 s
1 3R 2 d 1,2 83K 4
Ut L Rafalez Sl ke AT G
METEOR (i)
AMRAAM (i)
HAMMER  (iii)
EXOCET (iv)
574
3.2 1 (b) 4431 (a)
40321 (d) 24147 (o)

59.-  Which of the following are reasons for a low Tax-GDP ratio in India?

I
2,
3.
4.

Low per capita income
A variety of tax exemptions
Unorganised sector and cash economy

High amount of subsidies

Which of these are correct?

(2)
©)

1,2and 3 (b) land4

2 and 3 (d) Allofthe above
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() =9 9y @fwr o
(2) &0 % Rt yar 7Y ue

(3)  wEtew & of o e

(4) =1 ofir & afedy
(@ 1,233 (b) 1 oM 4
) 233 ) 1,2 834

S Ui o i L0 paop A
duled (1)
AL )

w2 R (3)

oSS hr (4)

fe (’7 VYA 3onir
41 (b) 32,1 (a)
Sl (d) L2 ()
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/6 g %onmsl%%' the; following about the Fradhan, M%t“ Kisap Samman, Nidhi

(PM-KISAN).

1. Coversall the farmers including landless farmers and sharecroppers.

—

2. Anincome support of rupees 6000 per year'is provided to the farmers in three

equal installments of rupees 2000 at an interval of every four months.

Itis a Central Sector scheme with 100 per cent funding from Government of

India.

Which of these statements are correct?
(@ land2 (b) land3

(c) 2and3 AT 1,2and 3

v Wt R g R (PM-KISAN) 3 o3 frefufe o -

1 e Reert ok serart wha @i Ret @ @ w 3

2. [ohEMT & & ¥R W8N % O W 2000 79 B AT T Phw § why
T 6000 TYT I A AT Y& Bl ol § |

8. WRA TR / 100% fa o= Wt Hesig & 9 Fom

SR H B T & ?

@ 19R2 (b) 13R3

¢ 2R3 d 1,23R3
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32 (d) 243 (c)
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